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Lo all whom it may concern: _
~ Be it known that I, Jamus E. J ACKSON, a
citizen of the United States, residing at Green-
ville, in the county of Mercer and State of
5 Pennsylvania, have invented certain new and
usetul Improvements in Puzzles ; and 1 do
hereby declare that the following is a full,
clear, and exact description thereof, reference
being had to the accompanying drawings,
to which form a part of this specification.
My invention relates to puzzles; and its ob-
Jectisto produce aninexpensive device where-
in the problem presented to be solved is per-
plexing and wherein an interesting study and
15 pastime are afforded.

The invention consists in the peculiar na-
ture of the puzzle as presented in the con-
struction and combination of the several
parts described herein, and pointed out in the

20 claims. | | | |
Figure 1 is a plan of my puzzle, showing
the locomotive and cars placed on the track;
and Fig. 2 is a plan view of the same, show-
ing track alone. |
The device consists of a board or other suit-
able material which forms a base A, wherein

25

1s made grooves or to which is secured wires
or rails ¢ torepresent the main track andaY

of a railroad, and four movable blocks or fig-

3¢ ures, one of which represents a locomotive

and the other three of which represent rail-

way-cars. -

In the drawings, E represents the main
| track of a railroad, and B and C are the
- 35 branches diverging therefrom on the same

side of the main track, but in reverse direc-
tions, and unite in a spur D.

In ecarrying out the invention the locomo-
tive L is placed on the main track E at e, its

40 pilot pointed toward the Y. One of the cars
5 18 placed on the main track at f between the

~ diverging branches B and C, another car 2 is

placed ou the branch B at 0, and the third
car 1 1s placed on the branch C at ¢.

45
tive around a Y it will be turned end for end
when it is again upon the main track—i. e.,
by placing the locomotive with its pilot point-

Ing to the left,as shown'in the drawings, then |

It is well known that in running a locomo-

| ranning it around the Y by traversing either so

1t down to car

| out to or beyond e.

]

branch B or C first, the pilot will point to the

right after making the circuit and reaching

the main track. *
The problem presented is to place the loco-

motive and cars asshown, run the loeomotive 53

around the Y to reverse it, and leave the cars

as they were found—3 at 7, 2 at b, and 1 at c.
- The problem presented by my puzzle may

be solved as follows: Place the locomotive
and cars as seen in the drawings, the loco- 6o
motive L on the main track E at e with the
pilot pointed toward the Y, car3 on the main
track between the branches B C at £ car 2
on the branch B, and car 1 on branch C ate.
Run the locomotive down the branch C and 65
pull car 1 back on the main track and push
3 omr the main track between
branches B and C. Then back the locomo-
tive, run it down branch C onto the spur D
and back up branch B, and push car 2 out on
the main track at E’. Then run the locomotive
down the main track,and push cars 1 and 3
1The locomotive then
stands on the main track reversed from its
first position; but it has yet to make the cir-
cuit twice more to complete the solution.
Now back thelocomotive down branch C onto
spur D, ran up branch B onto the main track,
when the pilot will point in the same diree-
tion as whenitstarted first. Then back down
the main track and get cars 1 and 3 and pull
them on the main track between branches B
and C. Now run on and get car 2 and back
with it on branch I3 andleaveit there. Then
back the locomotive onto spur D, run up

70

75
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‘branch C to the main track, back up and get

car 1,and pullit outon main track at e. Then
push said car 1 back on branch C and run
the locomotive up on the main track, and it
1s reversed, as desired, and all the cars are
left as they were first placed.

In the solution of the problem what is
known as “running switches” are not allowed.
The cars can only be pushed or pulled by the
locomotive. Neither can but one car or the
locomotive alone be apon the spur D at one
time. Neither can more than two cars or the

93

locomotive and one car be upon the main
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~track at the left of the Y, as at E’, at one

10O
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time.

of the Y will hold the locomotive and one car.

The main track andthe branches and spurs
of the Y may be of any length so long as the
problem presented is observed; buttoprevent
a misunderstanding of the manner in which
the puzzle is to be solved I make the spur D

long enough to hold only the locomotive and

extend the main track at E’ beyond the point

of intersection of the branches C sufficiently

to hold onlyv the locomotive and one car.
What I claim as my invention 18—

1. In a puzzle, the combination, with four

blocks representing a locomotive and three
cars, of a base having a main track and two
branch tracks diverging therefrom in reverse

directions on the same side of the main track

and uniting in a spur forming a Y, the said

spur being of sufficient length to hold only
‘the locomotive or one car, substantially as

described. o

2.-The combination, in a puzzle, of four
blocks or figures, one of which represents a
locomotive and the other three of which rep-

resent cars, with a base A, having a main

The main track between the branches’

' | 449 881

| track E and branches B and Cdivergingthere-

from in reverse directions on the saine side
of the main track and uniting in a spurD to

form a Y, said spur D being of a length to

hold the locomotive, and the main track ex-
tending beyond the point of intersection of
the diverging tracks at E’ sufficient to hold
the locomotive and one car, substantially as
and for the purpose specified. | |

3. In a puzzle, a main track E, having two

‘branches B C diverging therefrom inreverse

directions, so as to unjte in a spur D, said
spur being of alength to hold the locomotive,

the main track extending beyond the point
of intersection of the branch B at E’,so asto

hold the locoinotive and one car, the distance
on the main track between the diverging
branchés B C being sufficient to hold the lo-

comotive and one car, and four blocks of fig-

ures, one of which represents a locomotive
and the other three of which represent cars,
substantially as and for the purpose set forth.
| | JAMES E. JACKSON.
Witnesses: | _-
D. C. MEYER,
WM. WIMER.
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